

4815 West Hwy 6 Hastings, NE 68901 Phone: (402) 463-1339 Fax: (402) 463-7328 www.landmarkimp.com hastings@landmarkimp.com



Invoice To Account No: 100000368

Deliver To:

SERVICE INVOICE

GOOD EARTH FARMS, INC **BRENT HOOPS** 1135 OSWEGO AVE HASTINGS NE 68901

Bus Phone: 402-756-6879 Prv Phone:

Make/Model:

JOHN DEERE S660S

Deliver 10.	Lucaina Numbani	10759047
GOOD EARTH FARMS, INC 1135 OSWEGO AVE	Invoice Number: Invoice Date	09/30/2019
HASTINGS NE 68901	Location:	12
	Work Order Number:	314644
	Payment Type:	Credit Card
Bus Phone:	Authorization Number:	03644G
Prv Phone: 402-756-6879	Page:	1 of 7

Meter	Serial Number:	EQ ld:	Fleet No:
497	1H0S660SKG0785218	1H0S660SKG0785	218

\$0.00

Misc:

### /HSOFT Retail

COMPLAINT:

SEG 02 COMBINE SOFTWARE EVALUATION AND UPDATE

#### CORRECTION:

CONNECT SERVICE ADVISOR

CLEAR CODES

**UPDATE CONTROLLERS** 

PRINT ENGINE UTILIZATION REPORT CHECK ALL COMBINE FUNCTIONS AFTER UPDATING SOFTWARE

\*IF UPDATING FT4 "S" SERIES COMBINE ECU OR VEHICLE CONTROLLER ALSO UPDATE THE GEN 4 COMMAND ARM DISPLAY. THIS IS CRITICAL WITH COMMAND ARM ACTIVATIONS SOLD BY LANDMARK.\* Max completed this.

Labor: \$100.00 Parts: \$0.00

/REPAIR -F-0014327 Retail

COMPLAINT:

SEG 03 TIGHTEN ALL OTHER BELTS AND CHAINS - GREASE COMBINE - RUN COMBINE AFTER THE REPAIRS - INSTALL SHIELDS AFTER THE WASH 10% DISCOUNT ON PARTS

### CORRECTION:

Tightened all belts and chains tension to spec and test ran after repairs and checked and topped off fluid levels.

OL&M: \$0.00

Labor: \$374.25	Parts: \$107.45 OL&M: \$0.00	Misc: -\$189.20	Sub-Total: \$292.50
PT3790	DISC ALLOWED - PARTS HAST	1.00	-\$189.20 -\$189.20
<u>Miscellaneous</u>	Description	Quantity	Net Price Extended Price Taxed In
TY6341	SD POLYUREA GREASE	1.00	\$3.97 \$3.97
IPSKIT1	OIL SCAN TEST KIT	3.00	\$13.37 \$40.11
HXE102380	Clip	1.00	\$7.44 \$7.44
HXE102379	Clip	2.00	\$7.40 \$14.80 I
DS0251	COOLANT SCAN TEST	1.00	\$41.13 \$41.13 I
<u>PartNumber</u>	Description	Quantity	Net Price Extended Price Taxed In

Sub-Total:

\$100.00



4815 West Hwy 6 Hastings, NE 68901 Phone: (402) 463-1339 Fax: (402) 463-7328 www.landmarkimp.com hastings@landmarkimp.com



Invoice To Account No: 100000368

Deliver To:

Bus Phone:

SERVICE INVOICE

GOOD EARTH FARMS, INC **BRENT HOOPS** 1135 OSWEGO AVE HASTINGS NE 68901

GOOD EARTH FARMS, INC 1135 OSWEGO AVE HASTINGS NE 68901

Invoice Number: Invoice Date Location:

Work Order Number: Payment Type: Authorization Number:

12 314644 Credit Card 03644G 2 of 7

10759047

09/30/2019

Bus Phone:

Prv Phone: 402-756-6879 Prv Phone: 402-756-6879

Serial Number: Meter

Page: Fleet No: EQ ld:

Make/Model:

JOHN DEERE S660S

1H0S660SKG0785218 497

1H0S660SKG0785218

### /S660G1138848 Retail

COMPLAINT:

SEG 04 CONVEYOR DRIVE CHAIN, R&R - AND IDLER

### CORRECTION:

replace lower idler sprocket with new one and replace drive chain with new one and set chain tension to spec.

Labor: \$324.35	Parts: \$169.68	OL&M: \$0.00	Misc:	\$0.00	Sub-Total:	\$494.03	
AXE72709	Link Chain			1.00	\$136.93	\$136.93	N
AXE19940	IDLER SPRO			1.00	\$32.75	\$32.75	N
<u>PartNumber</u>	Description			Quantity	Net Price	Extended Price	Taxed Ind

## /S660G1138850 Retail

COMPLAINT:

SEG 05 UPPER WEAR STRIPS, R&R

### CORRECTION:

replace all 4 wear strips with new ones and check chain tension.

PartNumber	Description			Quantity	Net Price	Extended Price	Taxed Ind
H171960	STRIP			4.00	\$20.97	\$83.88	N
Labor: \$324.35	Parts: \$83.88	OL&M: \$0.00	Misc:	\$0.00	Sub-Total:	\$408.23	

## /S660G000010 Retail

COMPLAINT:

SEG 06 REPLACE REVERSER GEARCASE OIL

## CORRECTION:

service reverser with synthetic gear oil.

PartNumber	Description	Quantity	Net Price	Extended Price	Taxed Ind
TY26408	HD460 SYN GEAR LUBE 1QT	4.00	\$20.20	\$80.80	N
			CONTINU	ED ON NEVT	DACES



4815 West Hwy 6 Hastings, NE 68901 Phone: (402) 463-1339 Fax: (402) 463-7328 www.landmarkimp.com hastings@landmarkimp.com



Invoice To Account No: 100000368

Deliver To:

SERVICE INVOICE

GOOD EARTH FARMS, INC **BRENT HOOPS** 1135 OSWEGO AVE HASTINGS NE 68901

GOOD EARTH FARMS, INC 1135 OSWEGO AVE HASTINGS NE 68901

10759047 Invoice Number: 09/30/2019 Invoice Date 12 Location: 314644 Work Order Number: Credit Card Payment Type: 03644G Authorization Number:

Bus Phone:

Prv Phone: 402-756-6879

Bus Phone: Prv Phone:

402-756-6879

Page:

1H0S660SKG0785218

Fleet No:

Make/Model:

Meter Serial Number: EQ ld:

JOHN DEERE S660S

1H0S660SKG0785218 497

3 of 7

Labor: \$162.18

Parts: \$80.80

OL&M: \$0.00

Misc:

\$0.00

Sub-Total:

\$242.98

/S660G1138844 Retail

COMPLAINT:

SEG 07 FEEDER HOUSE VARIABLE SPEED SHEAVE, REBUILD - INCLUDES R&R

### CORRECTION:

Removed upper variable and cleaned old grease out. Removed and replaced bearings and seal. Filled with new grease before installing back onto machine.

Labor: \$561.38	Parts: \$159.88 OL&M: \$0.00	Misc: \$0.00	Sub-Total:	\$721.26		
TY6341	SD POLYUREA GREASE	1.00	\$3.97	\$3.97	N	
TY26101	CLEANING S	1.00	\$4.43			
R31378	O-RING			\$4.43	N	
JD10018		1.00	\$3.93	\$3.93	N	
	BALL BEARI	1.00	\$32.21	\$32.21	N	
AH165609	BALL BEARI	1.00	\$96.16	\$96.16	N	
AH136497	SEAL	1.00	\$19.18	\$19.18		
<u>PartNumber</u>	<u>Description</u>	Quantity	W 250 NEXT	Extended Price	Taxed Ind N	

/S660G000019 Retail

COMPLAINT:

SEG 08 ENGINE AIR FILTERS - R&R

### CORRECTION:

replace engine and air filters with new ones.

PartNumber	Description			Quantity	Net Price	Extended Price	Taxed Ind
HXE11090	FILTER ELE			1.00	\$169.75	\$169.75	N
HXE11091	FILTER ELE			1.00	\$134.24	\$134.24	N
Labor: \$31.19	Parts: \$303.99	OL&M: \$0.00	Misc:	\$0.00	Sub-Total:	\$335.18	

/S660G000020 Retail

COMPLAINT:



4815 West Hwy 6 Hastings, NE 68901 Phone: (402) 463-1339 Fax: (402) 463-7328 www.landmarkimp.com hastings@landmarkimp.com



Invoice To Account No: 100000368

Deliver To:

SERVICE INVOICE

GOOD EARTH FARMS, INC **BRENT HOOPS** 1135 OSWEGO AVE HASTINGS NE 68901

GOOD EARTH FARMS, INC 1135 OSWEGO AVE HASTINGS NE 68901

497

Invoice Number: Invoice Date Location: Work Order Number:

Payment Type:

Page:

1H0S660SKG0785218

09/30/2019 12 314644 Credit Card

10759047

Bus Phone:

402-756-6879 Prv Phone:

Bus Phone: Prv Phone:

402-756-6879

Authorization Number:

03644G 4 of 7

Make/Model:

JOHN DEERE S660S

Meter Serial Number: 1H0S660SKG0785218 EQ Id:

Fleet No:

SEG 09 CAB AIR FILTERS - R&R, CLEAN FILTER COMPARTMENT

### CORRECTION:

replace both cab filters with new ones and vacuum out compartment.

Labor: \$62.38	Parts: \$76.60	OL&M: \$0.00	Misc:	\$0.00	Sub-Total:	\$138.98	
RE284091	AIR FILTER			1.00	\$56.93	\$56.93	IN
L214634	FILTER			1.00	\$19.67	\$19.67	N
<u>PartNumber</u>	Description			Quantity	Net Price	Extended Price	Taxed Ind N

### /S660G000021 Retail

COMPLAINT:

SEG 10 SERVICE ENGINE OIL AND FILTER

### CORRECTION:

service engine oil and filter.

PartNumber	Description			Quantity	Net Price	<b>Extended Price</b>	Taxed Ind
RE509672	OIL FILTER ELEMENT PLUS-50 II 15W-40 1 GAL			1.00	\$19.48	\$19.48	N
TY26673				2.00	\$20.26	\$40.52	N
TY26675	PLUS-50 II 15W40 2.5	GAL		2.00	\$49.98	\$99.96	N
Labor: \$99.80	Parts: \$159.96	OL&M: \$0.00	Misc:	\$0.00	Sub-Total:	\$259.76	

## 175F972914 Retail

COMPLAINT:

SEG 11 CLEAN DEF TANK VENT

### CORRECTION:

replace both breathers on DEF tank and fuel tank.

PartNumber	<u>Description</u>	Quantity N	Net Price	Extended Price	Taxed Ind
H216169	BREATHER	2.00	\$27.66	\$55.32	N

Labor: \$24.95

Parts: \$55.32

OL&M: \$0.00

Misc:

\$0.00

Sub-Total:

\$80.27



4815 West Hwy 6 Hastings, NE 68901 Phone: (402) 463-1339 Fax: (402) 463-7328 www.landmarkimp.com hastings@landmarkimp.com



Invoice To Account No: 100000368

Deliver To:

SERVICE INVOICE

GOOD EARTH FARMS, INC **BRENT HOOPS** 1135 OSWEGO AVE HASTINGS NE 68901

GOOD EARTH FARMS, INC 1135 OSWEGO AVE HASTINGS NE 68901

10759047 Invoice Number: 09/30/2019 Invoice Date Location: 314644 Work Order Number: Credit Card Payment Type:

Page:

Bus Phone:

Pry Phone: 402-756-6879

Authorization Number: Bus Phone: 402-756-6879 Prv Phone:

03644G 5 of 7

Make/Model:

Meter Serial Number: FQ ld:

Fleet No:

1H0S660SKG0785218 497 1H0S660SKG0785218 JOHN DEERE S660S

#### /S660G1138770 Retail

COMPLAINT:

SEG 12 ROTARY SCREEN DRIVE BELT, R&R

#### CORRECTION:

replace drive belt with new one and set tension to spec.

PartNumber Description				Quantity	Net Price	Extended Price	Taxed Ind
PartNumber	V-BELT			1.00	\$28.46	\$28.46	N
H238867	67	01.884. #0.00	Misc:	\$0.00	Sub-Total:	\$129.51	
Labor: \$101.05	Parts: \$28.46	OL&M: \$0.00	Wilse.	\$0.00			

### /S660G1138771 Retail

COMPLAINT:

SEG 13 ROTARY SCREEN JACKSHAFT DRIVE, RECONDITION

### CORRECTION:

Unbolted jack shaft from machine. Removed both pulleys, removed bearing lock collars and unbolted flanges. Removed bearings and cleaned shaft. Installed new flanges and bearings installed lock collars and pulleys. Installed jack shaft back in machine.

Labor: \$664.92	Parts: \$73.36	OL&M: \$0.00	Misc:	\$0.00	Sub-Total:	\$738.28	
HXE93567	BALL BEARI			2.00	\$32.60		- IN
H103264	PRESSED FL			4.00	5.515.000.000.000	\$65.20	N
<u>PartNumber</u>	Description			4.00	\$2.04	\$8.16	N
B. Wb.s.	Description			Quantity	Net Price	Extended Price	Taxed Ind

## /FLUSH Retail

COMPLAINT:

SEG 14 FLUSH FUEL SYSTEM - REPLACE FUEL FILTERS

## CORRECTION:

Changed fuel filters and installed flushing tool. Ran machine and flushed fuel system. Removed flush tool and reinstalled fuel lines.

**PartNumber** 

Description

Quantity

Net Price Extended Price Taxed Ind



4815 West Hwy 6 Hastings, NE 68901 Phone: (402) 463-1339 Fax: (402) 463-7328 www.landmarkimp.com hastings@landmarkimp.com



Invoice To Account No: 100000368

Deliver To:

SERVICE INVOICE

GOOD EARTH FARMS, INC **BRENT HOOPS** 1135 OSWEGO AVE HASTINGS NE 68901

Bus Phone: Prv Phone: 402-756-6879 GOOD EARTH FARMS, INC 1135 OSWEGO AVE HASTINGS NE 68901

Bus Phone:

Prv Phone: 402-756-6879

Invoice Date Location: Work Order Number: Payment Type: Authorization Number:

Page:

Invoice Number:

12 314644 Credit Card 03644G 6 of 7

10759047

09/30/2019

Make/Model:

JOHN DEERE S660S

Meter	Serial Number:	EQ ld:	Fleet No:
497	1H0S660SKG0785218	1H0S660SKG0785218	3

Labor: \$275.00	Parts: \$293.25	OL&M: \$0.00	Misc:	\$0.00	Sub-Total:	\$568.25	
TY27017	FUEL CONDI			1.00	\$81.24		14
SW10967P1	FILTER ELE				**************************************	\$81.24	N
				1.00	\$3.70	\$3.70	N
RE539465	FILTER ELE			1.00	\$94.43	\$94.43	Ν
RE533910	FUEL FILTE			1.00	\$113.88	\$113.88	N

### /S660G000009 Retail

COMPLAINT:

SEG 15 HORIZONTAL UNLOADING AUGER ACCESS DOOR SEALS - R&R, (BOTH)

### CORRECTION:

Removed access doors and cleaned old seals off. Installed new seals and reinstalled access doors.

PartNumber	Description			Quantity	Net Price	Extended Price	Taxed Ind
HXE59141	GASKET			2.00	\$18.43	\$36.86	N
Labor: \$81.09	Parts: \$36.86	OL&M: \$0.00	Misc:	\$0.00	Sub-Total:	\$117.95	
Edbor. \$01.05							

### /S660G1138801 Retail

COMPLAINT:

SEG 16 CLEAN GRAIN ELEVATOR DRIVE BELT IDLERS, R&R

### CORRECTION:

replace mid 2 idlers with new ones and set belt tension to spec.

PartNumber	Description			Quantity	Net Price	Extended Price	Taxed Ind
AH94450	IDLER			2.00	\$56.61	\$113.22	N
Labor: \$187.13	Parts: \$113.22	OL&M: \$0.00	Misc:	\$0.00	Sub-Total:	\$300.35	

#### /S670G000019 Retail

COMPLAINT:

SEG 17 EXHAUST AIR FILTERS - R&R

CORRECTION:



4815 West Hwy 6 Hastings, NE 68901 Phone: (402) 463-1339 Fax: (402) 463-7328 www.landmarkimp.com hastings@landmarkimp.com



SERVICE INVOICE

Invoice To Account No: 100000368	Deliver 10:		OLI	WIOL HAVOIGE
GOOD EARTH FARMS, INC BRENT HOOPS 1135 OSWEGO AVE HASTINGS NE 68901  GOOD EARTH FARM 1135 OSWEGO AVE HASTINGS NE 6890		Έ	Invoice Number: Invoice Date Location: Work Order Number: Payment Type:	10759047 09/30/2019 12 314644 Credit Card
Bus Phone: Prv Phone: 402-756-6879	Bus Phone: Prv Phone: 402-	756-6879	Authorization Number: Page:	03644G 7 of 7
Make/Model:	Met	er Serial Number:	EQ ld:	Fleet No:
JOHN DEERE S660S	497	1H0S660SKG0785	5218 1H0S660SKG07852	18

replace debris management air filters with new ones.

Labor: \$31.19	Parts: \$147.40	OL&M: \$0.00	Misc:	\$0.00	Sub-Total:	\$178.59	
AXE42066	FILTER ELE			1.00	\$95.55	\$95.55	N
AXE42065	FILTER ELE			1.00	\$51.85	\$51.85	N
PartNumber	Description			Quantity	Net Price	Extended Price	Taxed Ind

### /S660G1138796 Retail

COMPLAINT:

SEG 18 OUTER HORIZONTAL UNLOADING AUGER, R&R - GET DENT OUT OF THE TUBE

### CORRECTION:

disconnect batteries and secure welder to forklift and using lift grind paint off damaged area and weld 3 nuts to auger skin and using slide hammer pill crease out as much as possible grind nuts off and primer and paint area reconnect batteries and put tooling back.

PartNumber	<u>Description</u>			Quantity	Net Price	Extended Price	Taxed Ind
01407	3" GRINDING DISK			2.00	\$3.04	\$6.08	N
HM109	BLACK BOLTS			1.00	\$1.92	\$1.92	N
Labor: \$286.92	Parts: \$8.00	OL&M: \$0.00	Misc:	\$0.00	Sub-Total:	\$294.92	
		Credit Card Information			Labo	r: \$3,6	92.13
Customer PO No:		Type: Credit Card			Parts	s: \$1,8	398.11
Tax Exempt No:	ON FILE NE	Auth No: 03644G			OL&N	Л:	\$0.00
Advisor:	CRAIG PARR Amount: \$5,401.04				Misc:		189.20
	Chaid Fann				Sales Ta	x:	\$0.00
					Tota	s5,4	101.04

#### **TERMS AND CONDITIONS**

Approved charges are due by the 10th of the month following purchase, I agree to pay a monthly periodic FINANCE CHARGE at the rate of 1.33% which is an ANNUAL PERCENTAGE CHARGE OF 16% on the unpaid balance. The purchaser agrees to pay reasonable attorney fees if collection efforts are required.

Descived by:	Date:
Received by:	Date